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2 g = SHAUT A | MU o aros 5(a) 24| W
e 76,385 92,703 A 16,318 100.00%
2 2~(4100) 7 7 - 0.01%
2 2 2 2~(4120) 7 7 - 0.01%
AAZ0I(4121) 1 1 - 0.00%| 4= EXI
AN S (4122) 1 1 - 0.00%| A =EX
RAAE=L(4123) 1 1 - 0.00%| 4= EXI
AYHERLS(4124) 1 1 - 0.00%| A =EX
U AIAQI24H[ (4125) 1 1 - 0.00%| 4= EXI
-2l (4126) 1 1 - 0.00%| 2 =EX
R A Z(4127) 1 1 - 0.00%| 4= EXI
Zte| 2 A H| (4200) 64,364 69,029 A 4,715 84.26%
A& 22l (4210) 3,742 3,192 500 4.90%
A=ss22dl(4211) 1 1 - 0.00%| 4 =EXI
Zyl22ldl(4212) 2,500 2,000 500 3.27% @ BHel =AZII2MLH(HS) LelHOIERNESE(2SS) 12i8=
A& EHI(4215) 1,000 950 1.31%|@ ol f~AZII2MLH(HS) MIEHALUH-E(S=5S) 12i8=
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3|2/d| (4236) 992 300 692 1.30%| 4 OIAtSl 3|2fH|
S AbHI (4237) 1 1 - 0.00%| A=EXI
2 2| HIE (4400) 1 1 - 0.00%
JEtw = 2/ HI & (4420) 1 1 - 0.00%
T4l (4421) 1 1 - 0.00%| 4=EXI
HZ=3(4500) 12,003 20,503 A 8,500 15.71%
HE3(4510) 12,002 20,502 A 8,500 15.71%
JAHIEES(4511) 1 1 - 0.00%| 4=EXI
¢ SHHED HEREZE ¢ 10,000,000
HERHHE3(4512) 12,000 20,500 A 8,500 ¢ Zs0ssw HERES ¢ 2,000,000
Al 12,000,000
&N =3 (4513) 1 1 - 0.00%| 4 =EXI
ArEHE B BN &3 (4540) 1 1 - 0.00%
ASt S H R E 3 (4541) 1 1 - 0.00%| 4 =EXI
0l 51 B (4600) 1 3,154 A 3,153 0.00%
0ol B B1(4610) 1 3,154 A 3,163 0.00%
olHIb1(4611) 1 3,154 A 3,153 0.00%
S X2t IIEFRHAEXIE (1200) 1 1 - 0.00%
ST AHARI £ (1220) 1 1 - 0.00%
JIEFE RERFAHXIE (1229) 1 1 - 0.00%
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DEXAHOH R XIZ(1300) 5 5 0.01%

SE DI TAN(1310) 5 5 0.01%
EXI0HHI(1311) 1 1 0.00%
S0 (1312) 1 1 0.00%

JIAHDI ORI BI(1314) 1 1 0.00%
ZJIHI S0 HI(1315) 1 1 0.00%
SN YHI(1317) 1 1 0.00%
SSEMaE(2100) 1 1 0.00%

SIIX Y S4HEH(2110) 1 1 0.00%

I S &HEH (2111 1 1 0.00%| 4 =&EX
DE 2T A EH(2200) 1 1 0.00%

FIIXt S 4HE(2210) 1 1 0.00%

Xt S & EH(2211) 1 1 0.00%| 4 =SEX
OIAEZ X101 B 3 1 1 0.00%
X101 RS 1 1 0.00%
DI E-=P\a= 1 1 0.00%
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